o

= A 7

FvyR—2HR/20234F
3.1WED))4.28FRI I;EE
AV TV - WRER=E I8 =
5*:‘!%:9&1 *ﬁE

FooN—VWNREMR EED BB RONBICRY T

A-SFT A-LT-SFT oyovevo
- M2~M24 (BREA97A T L) M3~M12 (BRE17 74T L)
ZLSWIF 7 7

(LEV7RE)
A-TPT =m>—5. gnuw A-S-TPT =m>—i. mnvE
PT 1/16~1/2(BRES7ATL). Rc 1/16~1/2(BREST7ATL) PT 1/16~1/2 (BRES7ATL)

N BT . T ———
HAVRT YT =
& =

GEYIAE) A-POT A-LT-POT ovovvuo

M2~M24 (FBRE2671 T L) M3~M12 (BRE1774 T L)

¥TUEVPRIBIBARDRZERUTHSBEIRLTLEE L,
HIEEZEHZ<TABLTBUF TN RUINOBRMENHDBBED HUET,
HKEFPIR—UNRBRBICOEIREIEBESRIFHRFIBADTHIEDREERMNET,




A-TAPF+IN—=Y 5+1  [ik

2023.3.Tweo » 4.28¢ri
OAYYITVU-AMREBESETBAICOTIERES

RIS STy (ILYTRE) \ KL YMI YT GEVIRA)
W 3 < ~ A - - W < A = =
'%8 4 ED{’l;\lyo. Thrueg:gize %1? é?a;ige Efﬂ ﬁ &E &E l%% 4 ED{’l;\lyo' Thrueg:gfsize %1? éria;ige E(%!E *§ ﬁg yE
8325249 | M2 X 0.4 2.5P 3,830 * ES 8325049 | M2 X 0.4 3,780 = ®
8327449 | M2 X 0.4 1.5P 4,530 ES ES 8325054 | M2.3 % 0.2 3.620 75 75
8325254 | M2.3 X 0.4 2.5P 3,710 kS kS
8327454 | M2.3 X 0.4 1.5P 4,250 ES * 8325059 | M25 x 045 3.390 G =
8325259 | M2.5 X 0.45 2.5P 3,470 £ * 8325064 | M2.6 X 045 3.150 * Z3
8327459 | M2.5 X 0.45 1.5P 3,990 £ ES 8325069 | M3 X 0.5 2,640 EY *
8325264 | M2.6 X 0.45 2.5P 3,170 ES LS 8325083 | M4 x 0.7 2,620 FS S
8327464 | M2.6 X 0.45 1.5P 3,730 £ £ 8325090 | M5 x 08 2640 * *
8325269 | M3 X 0.5 2.5P 2,670 ES *
8326711 | M3 X 0.5 1.5P 3,030 & *x 852500 IS 2670 Z3 Z3
8326811 | M3 X 0.5 1P 3,180 LS ES 8325107 | M8 x 1.25 3,500 N N
8325283 | M4 X 0.7 2.5P 2,640 ES ES 8325117 | M10 X 1.5 4,210 ES ES
8326714 | M4 X 0.7 1.5P 2,950 & ES 5325121 | M10 X 1.25 4210 = *
8326814 | M4 X 0.7 P 3110 £ *
8325290 | M5 x 0.8 2.5p 2,640 * * SEASIED | (M2 5% 172 S &5 &
8326717 | M5 x 0.8 1.5P 2,990 & & el 0225134 | M12X 15 s | sp 4% * *
8326817 | M5 X 0.8 1P 3,140 ES * 8325137 | M12 x 1.25 5,490 ES *
8325297 | M6 X 1 2.5P 2,720 x ES 8325147 | M14 X 2 7,870 FS FS
8326720 | M6 X 1 1.5P 3,070 kS *
8326820 | M6 X 1 D 3,240 * = 8325150 | M14 X 1.5 7.870 ES *
8325307 | M8 x 1.25 2.5 3,550 * & 8325157 | M16 x 2 10,200 * *
8326723 | M8 X 1.25 1.5P 4,010 ES ES 8325160 | M16 X 1.5 10,200 * ES
8326823 | M8 X 1.25 P 4,220 * ES 8325167 | M18 X 2.5 13,400 EY EY
8325317 | M10 X 1.5 2.5P 4,320 ES ES SRR | AR % 1.5 T * *
A-SFT | 8326726 | M10 x 1.5 1.5P | STD 4,890 ES *
8326826 | M10 X 1.5 P 5120 * * 8325177 | M20 X 2.5 16.700 * *
8325321 | M10 x 1.25 2.5P 4,320 ES ES 8325180 | M20 x 1.5 16,700 * *
8326729 | M10 X 1.25 1.5P 4,890 ES * 8325187 | M22 X 2.5 21,300 ES *
8326829 | M10 X 1.25 1P 5,120 ES kS 8325190 | M22 X 15 21.300 73 7%
8325330 | M12 X 1.75 2.5P 5610 ES * 8325197 | M24 x 3 26.400 pe pe
8326732 | M12 X 1.75 1.5P 6,340 ES ES i
8326832 | M12 X 1.75 P 6,660 ES ES 8325200 | M24 X 1.5 26.400 z3 z3
8325334 | M12 X 1.5 2.5p 5610 ES ES 8326010 | M3 X 0.5 X 100 5,310 £ £
8327534 | M12x 1.5 1.5p 6,660 * * 8326014 | M4 x 0.7 x 100 4,820 ES S
8325337 | M12 X 1.25 2.5P 5610 ES * 8326018 | M5 X 0.8 X 100 4330 * *
8326736 | M12 X 1.25 1.5P 6,340 £ ES
8326836 | M12 x 1.25 P 6.660 x * G2 || B4 X 1 3% 100 4440 a3 Z3
8325347 | M14 x 2 8,050 PN PN 8326023 | M6 X 1 X 150 5,930 & ES
8325350 | M14 X 1.5 8,050 LS LS 8326032 | M8 X 1.25 X 100 5,210 ES S
88255578 WGP 10,400 Z3 Z5 8326033 | M8 x 1.25 X 150 7020 & *
8325360 | M16 X 1.5 10,400 ES *
8325367 | M1 X 25 ST = 2 Ovo | 8326046 | M10 X 1.5 X 100 5,930 ES ES
8325370 | M18 X 1.5 13.700 * * Y¥27 | 8326047 | M10 X 1.5 X 150 5P | STD 8,250 S S
8325377 | M20 X 2.5 2.5p 17,000 * x| |ALT-POT 8326044 | M10 x 1.25 x 100 5930 * *
8325380 | M20 X 1.5 17,000 * * 8326045 | M10 X 1.25 X 150 8,250 S ES
SN | WA X A 210 & = 8326060 | M12 X 1.75 X 100 6.810 & &
8325390 | M22 X 1.5 21,700 ES kS
T || W % 27.200 s s 8326061 | M12 X 1.75 X 150 9,710 EY *
8325400 | M24 X 1.5 27,200 ES ES 8326058 | M12 X 1.5 X 100 6,810 ES *
8326210 | M3 X 0.5 X 100 5,480 ZS ES 8326059 | M12 X 1.5 X 150 9,710 N x
8326214 | M4 X 0.7 X 100 5,030 ES * G | M3 % 1,95 % TG0 6,810 * *
8326218 | M5 X 0.8 X 100 4,500 ES ES
8326220 T V6 X 1100 4610 > > 8326057 | M12 X 1.25 X 150 9,710 & ES
8326223 | M6 X 1 X 150 6,140 * x Bt A * *
8326232 | M8 X 1.25 X 100 5,440 * kS
8326233 | M8 x 1.25 X 150 7.330 £ & % FLEYMRECBAROBRRERLUFN SERLT S,
O R L e | s o i i HEBEHS<TRBELTHUETH. BUNOBEMEN DD BEENBUET,
A-LT-SFT | 8326244 | M10 x 1:25 X 100 ' 6:140 * * HFPUR—URRERBICOE, BRRRBREBZ THERFLADTREIDRIEER
8326245 | M10 X 1.25 X 150 8,570 ES ES FELVE T,
8326260 | M12 X 1.75 X 100 7.100 ES ES . -~ N
8326261 | M12 X 1.75 x 150 10,100 * = WI-PHROBRZIEALLETV
8326258 | M12 X 1.5 X 100 7,100 kS * U HF BEg
8326259 | M12 X 1.5 X 150 10,100 ES * =
8326256 | M12 X 1.25 X 100 7,100 ES kS Bia
8326257 | M12 X 1.25 X 150 10,100 £ * e T
8327651 | PT1/16-28 8,960 ES ES THERR
8327652 | PT1/8-28 7.180 kS kS
8327653 | PT1/4-19 Js2 | 10,700 ES * TEL ( ) _
_ 8327654 | PT3/8-19 16,800 & ES
?g{gﬁf 8327655 | PT1/2-14 25p 25,300 ES * CENES
ATPT | 8327721 | Rc1/16-28 . 8,960 ES ES =
8327722 | Rc1/8-28 7,180 kS x|
8327723 | Rc1/4-19 - 10,700 ES *
8327724 | Rc3/8-19 16,800 £ *
8327725 | Rc1/2-14 25,300 £ *
8327661 | PT1/16-28 9,430 ES ES
@A>—/t | 8327662 | PT1/8-28 7.540 * pre
BRUR | 8327663 | PT1/4-19 25P | JIs2 11,200 ES LS
A-S-TPT | 8327664 | PT3/8-19 17,600 LS LS
8327665 | PT1/2-14 26,400 * *
a5t ] S N N

F-517.2023.02 (TP)



